MK CRERXD Ay WEY B, DL SRITTIRAL, s iis, AEaiEsel: Rk 18958055696 , 0571-83861508.

S PKYER EY B KT 55

%> 2R Fk Li¥iv o 5
3010001 il 2% H M1522 A 5 VAN
3020049 LA 4% 131 95 R FH
3020050 VKR 4% 233 95 R
3020057 R IE A e & 119 57 PR H il
3030099 MM A 8 A FH b
3030101 ATHT 3P4 = 2 73 At &
3030134 1eie PN R 9 A &
3030151 HBnas 32w A 109 A &
3030172 R H1% 80 A4y A 1 A &
3030195 W A 1 A &
3030205 A< A 3 A &
4010093 JE )AL DG1300-PJ-1-2 A 2 IFRR
4010113 o s K 7 L=300 @6mm 5 7 NESN
4010493 i 7% o )% 0-25Mpa e 4 IFRR
4010558 EEIES MZ10-57.7V H 2 IRR
4020014 WS PLIR K 53540 4 1 BRI
4020015 IS PLy AR 53544 4 1 LSS
4020016 WG PLI 7 53548 4 1 SN




4020017 I BLI Bl A 3053752 : 1 AR
4020021 I BLI Bl A 3524 1 3 U SN
4020022 I BLI Bl A 3519 1 3 AR
4020023 IS PLy AR 1313 4 2 LSS
4020025 IS PLyS AR 3514 4 3 LSS
4020026 IS PLy AR 3528 4 3 LSS
4020027 I PLy AR 3517 4 3 Ak
4020029 NSK #li 7 6317CM 4 2 LIS
4020030 NSK %l 6314CM 4 2 Ak
4020031 NSK %l 6313CM 1 2 Bl
4020032 NSK %l N319W 1 2 Bl
4020035 NSK %l 6309CM 1 2 Bl
4020038 NSK %l 6322CM 1 2 Bl
4020062 SKF & 23140cc/w33 1 1 Bl
4020063 SKF %l 23220cc/ww33 1 1 BRI
4020066 SKF #li7& 22332cc/w33 4 1 SN
4020067 SKF #li7& 22244cc/w33 4 1 SN
4020068 SKF #li7& 22240cc/w33 4 1 SN
4020071 SKF #li7& 22326cck/w33 4 1 Ak
4020073 SKF #li7& 23126cc/c3ww33 4 1 Ak
4020075 SKF i 22208E 4 2 Ak
4020076 SKF %7k N211ECP f: 2 &k
4020083 SKF %l 6311 4 2 LSS
4020086 SKF %l 6322 4 2 LSS
4020091 SKF “h7k 6313/2Z i 2 Bk




4020092 SKF #li & NU310ECP 1 2 AR
4020107 Bl A& 6313 1 2 U SN
4020108 Bl A& 6312 1 2 AR
4020109 M7k 6314 4 2 LSS
4020130 BOR B RS NU310E 4 3 LSS
4020137 M7k 32310 A 9 LSS
4020138 S A (7 ) 6307 4 2 Ak
4020140 7 B UCT312 A 2 LIS
4020141 7 B UCFC213 A 2 Ak
4020145 GHA UCF C214 A 2 ARk
4020149 WS DLy Al AR 6315 A 2 Bl
4020156 A &R 6013 A 6 Bl
4020157 Bl CGEHD 6211N A 2 Tl
4020160 b 6306N 1 2 Bl
4020162 b 6305N 1 3 LS
4020163 TR 7k 4074109 4 3 SN
4020179 LI 6202 4 2 SN
4030012 AR B 5 K5 : LK552.2-2 R 1 Bk #5 4
4030013 AR B 5 K5: LK552.2-3 R 1 Bk #54
4030014 BRI B3 K'5: LK552.2-4 R 1 HUBR &A1
4030015 AR B 5 5. LK552.2-5 R 1 Bk #54
4030016 B ] E 5t K5: LK552.2-11 i 1 Bk s AT
4030018 SN 5957 LSII500 = 2 HUBR A
4030019 SN 5957 LSI1400 = 8 HUBR A
4030024 AR TR QGF-63*127MF1 A 6 HUBR A




4030025 RN QGF-100*250MF1 A 1 BUBR A
4030035 ERER NXQ-10/20-L-A A 1 Bk AT
4030037 FEFEIR P-40A & 1 Bk AT
4030038 it v 5] YHF-L2 A 1 HUBR 1
4030040 o ] 390 1 ey i A400 BRHI S L 2 1 Bk 45 1F
4030041 At [ 1 1 e R A E560 BAgs il e A 1 HUBR 1
4030045 M I -+ M A %15 550.053.09.22 £ 4 HUBR &A1
4030048 NG G3/8“ WP20bar K 82 HUBR &A1
4030052 ik BT H1F 125mm, #4Jf 42CrMn = 1 HUBR & A
4030055 NP RENL = 1 HUBR &A1
4030062 HMLH% 9-26NO7.5D 4 1 Bk 254
4030065 ML=k 9-26NO7.5D 4 1 Bk #54
4030074 AR IR G09-199-1 (2.1) -01B 1 1 Bk A AT
4030075 i U 1 G09-199-1 (2.1) -02B s 1 HUBR A
4030076 10 37 1) ) G09-199-1(2.1)-03B s 1 HUBR A1
4030077 WA ) ) G09-199-1(2.1)-05B s 1 HUBR A1
4030078 T G09-199-1(2.1)-03B 4 1 Bk 251
4030079 B Il A% G09-199-1(2.1)-10B s 1 HUBR A1
4030080 JE e G09-199-1(2.1)-13B las 1 HUBR &A1
4030108 LIPS g e 133*1600, V17 F#G4E D=133 A 10 HUBR A
4030110 fanik Ay FR 133*530, fHH A 53 HUBR A
4030112 I FE AR 108*1400, V4T A 21 B A
4030116 I FE AR 108*465, VAT N A 28 B A
4030118 IR O 108*295, 2 A 24 B A




4030123 IRy LR 108*950, f#7 (04V0123) A 70 Blbk# A
4030124 LR 108*950, “FATF 2 18 BB A1
4030131 R 2 df 4 9-26NO7.1D A 5 BB A1
4030132 VI 9-19NO14D A 12 BB £ A
4030136 I XKZ09119 £ 6 BB A1
4030137 e A A ik XKZ09119 2 10 BB £ A
4030139 R ) = B XKZ09119 = 8 Bk #54
4030140 JE KA XKZ09119 A 44 Bk 2511
4030141 g XKZ09119 A 36 Bk 254
4030142 U I FH A 4k 1 XKZ09119 A 25 Bk #54
4030143 U 16 FH 7 4k 2 XKZ09119 A 23 Bk 254
4030144 WA [l 7K A 3k XKZ09119 A 28 HUBR &A1
4030165 B A B270 P/ 80 BB £ A
4030240 BT A A GR55 2V A 2 HUBR A
4030241 R gESE PVH141Q1 & 1 Bk 251
4030242 MEAE TR et 22 ML3(38*82/31.75*65) A 3 HUBR A1
4030258 W s 4 3 PPT-3 1 2 HUb A
4030259 I s e A HFP2-H2-3-P-2 A 2 HUBR A1
4030279 XUHEE A Tk 24B-2 F 100 | WLk # 1+
4030314 5 31 LT ) G3/8 A 35 HUB A
4030317 HE RV R IR I K DN200 0 1 HLBE A
4030318 BRI DN250 1 1 LA
4030320 BERER I DN250 1 1 DU
4030324 I AR 1) 5 WP20BAR 13mm*21mm K 100 Hlbkes A1




4030337 S BI0 e s 01000371 A 1 Bk A AT
4030338 B0 I 01003903 A 2 Bk AT
4030339 ANEEAT I Ak [ 01004049 A 2 Bk AT
4030340 1o Y8 01003604 A 2 HUBR 1
4030343 565 HLRE IR 01003319 A 2 HUBR 1
4030348 ANER AN ] e 2 [ 01000409 A 2 Bk 45 1F
4030363 CS izl % 49447 = 2 HUBR &A1
4030367 prgili Q6 A 22 Bk #54
4030372 HL, 2 1] L182B17 3/4 A 8 Bk 254
4030373 FL T 1) L182B31 1/2 A 3 IR € R
4030375 RA L1821B31 1/2 A IR e R
4030390 JBE ASC02.5" = 25 Bk e A
4030397 B 24A-2 A 260 BUBR A
4030399 S 28A-2 A 164 HUBR A
4030444 - 5-51N0.10D & 1 HUBR A
4030447 i 20 e ES15BW-0.63/90-195 = 1 MU A
4030448 4 B I 3300MM A 1 HUBR &A1
4030466 | kO AN R 4 A Bl g AL HB8430 S 1 HUBR &A1
4030472 YRR T WRF1551 S 2 HUBR &A1
4030482 IR 2% YOX560 & 1 HUBR &A1
4030484 WREA T 5 YOTGCD1150 ¥ flfic £ & 1 Bk es4
4030492 B4 &6mm*40mm A 200 B A
4030501 VBSR4 3-16-23MPA IS 1 BLBAE A
4030502 VS ST e s A Sk 2-22-16MPA i 2 B A




4030527 T EAR 73*1405 2 12 Bk A AT
4030528 LIPS et i1 73*1430 A 5 Bk AT
4030532 WIRE G A BB PAT 2% DKJ-310X A 1 HUBR AT
4030533 L YR AT DYTZ450-200 A 1 HUBR 1
4030537 100X- 3% 2 V7 K 1] 100*0100-P10 = 1 Bk 45 1F
4030540 Wbl 4 MG1/90 A 2 HUBR 1
4030541 BUbl 2 MG1/35 A 2 HUBR &A1
4030557 g SHERRIE 2 1 Bk #54
4030558 HiLV =38 900*900 Z1750-300 = 1 Bk 254
4030561 el TJ312-15 A 11 Bk e A
4030562 el TJ316-9 A 4 Bk A AT
4030563 [T SN LGM5204 A 1 Bk e A
4030566 | SLFk DRW4.12 4 @ KT Fk I DN500 A 1 Bk e A
4030579 M fE 52*120*6 %= A 8 Bk e A
4030597 WHEE T i 24B-2 P/ 4.5 HUBR A
4030604 IR A HERUCRE RS 4% 315mm /S 40 HUBR &A1
4030605 S SRR LA 4% 250mm /S 60 HUBR &A1
4030624 LIS G6-41-11-6.4A £ 1 HUBR &A1
4030636 B R 2FRM6B 36-33/32QRV A 2 Bk #54
4030640 KL% 9-26-7.5D 4 1 MU 1
4030721 i PE A REYEREFE 5 Aok 20mm PR 50 HUB A A
4030759 TROE ML RCW137-Y22-W-270 = 1 B A
4050024 Pl SC-E7AC3 30KW = 5 HL 2 25 1
4050030 Ak TK-E02 4-6A = 4 L2 25 1




4050031 Ak TK-E02 5-8A & 10 a8 2 1
4050032 Ak TK-E02 6-9A = 8 a8 5 1
4050035 HL R PROEXI33 P 1 a8 2 1
4050068 Ak LA TK-E3 48-68 A 1 HL 7 25 1
4050069 Ak LA TK-E3 65-95 A 1 HL 7 25 1
4050070 Ak LA TK-E3 85-105 A 3 HL 7 25 1
4050071 FEE TK-E6 110-160 A 3 HL#8 251
4050081 Btk 1 50A A 75 L2 25 1
4050084 SEN TR 600/5 A 2 HL#8 251
4050085 IV TR S 500/5 A 2 A 2 1
4050086 IV TR S 400/5 A 2 A 2 1
4050087 IV TR S 300/5 A 2 A 2 1
4050089 IV TR S 100/5 A 4 A 2 1
4050093 M 421-6 A 2 A 2 1
4050094 CEMTE 421-6 75/5 A 1 LA 25 1
4050096 s 6L2 A 2 HL#8 251
4050097 DR #3% 42L-6 A 2 HL#8 251
4050143 HEL L Y2-112 A 3 HL 25 25
4050144 HEL L Y2-160 A 3 HL 25 25
4050145 HEL L Y2-180 A 2 HL 25 25
4050146 HEL L Y2-200 A 3 HL 25 25
4050147 H L3 i Y2-225 A 3 HLAS A
4050148 HAL L i Y-80 A 1 HL2S A
4050149 HL L3 5 Y2-280 A 3 HL 25 2 1
4050150 HL L3 5 Y2-250 A 3 HL 25 2 1




4050151 HA Lo Y2-315 A 2 HLAS A
4050184 s SC-N11 300A A 3 a8 5 1
4050185 s SC-N12 400A A 2 a8 2 1
4050198 LYQUE?R 120*1090cm i 1 HL 7 25 1
4050199 LYGUELR 120*1070cm i 1 HL 7 25 1
4050200 LYQUE?R 120*1050cm i 1 HL 7 25 1
4050249 T RIEAE TWISTED-PAIR TRANSMITER A 84 78 251
4050250 (GREE € TWISTED-PAIR Receiver A 81 78 251
4050297 PR IF K HL-M12-N4AO A 80 A 2 1
4050304 JT REREARTT ¢ LW5D-16 A 2 HL#8 251
4050307 Ak AR CJR3-13S 4-6A A 10 78 251
4050308 gk AR CJR3-13T 5-8A A 15 HL#8 251
4050309 Ak AR CJR3-13U 6-9A A 1 HL#8 251
4050321 AR R 2% NDK (BK) -150 = 4 HL#8 251
4050333 Gk AR 3UA58402P 50-63A = 2 HL#8 251
4050340 CIEAL S KP800A 4 5 20 LA 25 1
4050341 CIEALES MTC-400A/1400V 5 18 LA 25 1
4050342 CIEALES SKT-1202/1600V 5 20 LA 25 1
4050343 s SC-E02N5-C 9A = HL2S A
4050345 s SC-N7PM8-C 150A = HL2S A
4050377 (R NT-F1111 % s & 59 LA 5 1
4050384 Lk 2R 3UA58408W = 3 s £
4050385 Lk AR 3UA58402P = 3 s £
4050386 Lk AR 3UA58402F = 5 s A




4050393 5 KT 2% NGTC3-660V/660A & 5 28 2 A
4050396 PGk 2 JR20-16L 12-16A & 40 28 2 A
4050397 k2 JR20-63L/1U 6-24A = 35 28 2 A
4050398 A JR20-63L/1U 32-47A & 46 H g 25 1F
4050399 A JR20-10L/15R 8.6-11.6A & 35 H g 25 1F
4050400 PR I TK-E02 4-6 5 14 H A 5
4050401 AR TK-E02 4-9 & 14 ML 28 g
4050402 AR TK-E02 5-8 & 15 ML 28 g
4050409 AR JR20-16IL 5.4-8A N 39 ML 28 g
4050417 IV INEEAN YRKK500-6 335KW 109662 = 1 M 28 g
4050421 HUHLTE PR (D YRKK500-4800KWJ0913512 = 1 HLES 1T
4050422 LIS IR (40D YRKK710-61800KWJ0913517 e 1 L 28 2 A
4050423 LI IR (40D YRKK900-64500KWJ0913516 = 1 L 28 2 A
4050424 LIS IR (40D YRKK900-64000KWJ0913515 = 1 L 28 2 A
4050526 P IR LJ18A3-8-J/DZ (1) N 10 28 2
4050542 J AT I i Hs A7 A R FN3-10/400A =) 1 HL A 251
4060055 T v AR A SFF-75-3 P/ 120 IRy vy
4060056 i v vl 4 1) L KFV-228*1.5m m’ b/S 85 IR s
4060077 T s HL 2 YJV22-26/35KV1*300mm /S 375 CEEy VPt
4060309 TR L Ak 75-3 AP A A P/S 100 HL A AR}




4060428 i 2000*400 /N 34 HL 2R A4 )
4060429 MR 2R a5 AR 2000*401 A 100 HL 2R A4 )
4060430 NEITSA ] 2 8 HL 2 A1 R
4060436 ACHR L4 YJV-0.6/1KV 3*35+1*16 /S 50 HLA 1R}
4060437 ACHR LA YJV-0.6/1KV 3*95+1*50 /S 80 HLA A1k}
4060440 ACHR HL AR YJV-0.6/1KV 1*16 /S 200 HL 284
4060441 R YJV-0.6/1KV 1*35 P/ 100 HLA 1k}
4060559 e R L R TRk 70-120 = 2 L2
4080011 ANERAN BRI DN32 A 16 IKBEH
4080012 AN EK 1 DN40 A 36 KBRS
4080013 AN EK 1 DN50 A 31 IR
4080019 7] 5] DN65 A 5 UGS
4080021 53k DN25 A 19 IKBE
4080030 et DN80 53 19 IS
4080031 2t DN65, PN16 Fr 6 KB
4080053 Xof 42 44 DN25 A 97 IKBES
4080087 b DN50 F 20 IKBES
4080098 ] 7] Z41H-16C DN50 & 6 IKBE
4080107 i ] D71X-16C DN80 & 2 IR
4080114 11 [ H41H-16C DN65 & 3 IR
4080134 R P SA100/65-1.6 A 7 IKBES
4080135 i ®10-16mm A 69 KB
4080153 PR Sk DN350 A 7 IKIER
4080161 SE DS DN15 A 15 IKBEF
4080181 SE DS DN20 A 10 IKBEH




4080485 k- DN10 A 47 TK B
4080486 k- DN15 & 32 TK B
8010001 I 1 DN20 A 23 TK B
8010002 =8 DN100*100 A 22 IKBE
8010004 =8 DN150*150 A 10 IKBE
8010005 =8 100*80 A 29 IKBE
8010006 =@ 100*50 A 30 IKBEH
8010007 =@ 125*125 A 5 IKBEH
8010008 3% DN100 A 30 IKBEH
8010010 53k DN80 A 132 VIS
8010026 ik DN150 A 15 IKBE
8010027 i DN8O A 27 e
8010028 Tk DN80 A 35 IKBE
8010048 PE 25 3k $ 160 A 10 IKBE
8010053 224175 3k DN25 N 51 KB
8010054 2241175 3 DN32 A 20 IKBES
8010055 2241175 3 DN20 A 13 IKBES
8010071 PE 75244 DN200 A 5 IKBES
8010072 PE 75254 DN160 A 8 IKBES
8010073 PE 75254 DN110 A 5 IKBES
8010074 PE 75254 DN63 A 5 IKBES
8010075 Wik DN50 A 12 JKBE
8010077 WRR A DN350 K 30 KB
8010078 WIBEAE DN250 K 12 JKBEK
8010079 WIBEAE DN125 P/S 6 TKBE




8010080 WREGE DN40 * 6 IKIES
8010081 IR ATk DN40 A 32 IKBE
8010082 WERGTkL DN65 A 5 IKBE
8010083 R ATk DN32 A 7 KBRS
8010084 WG A 200*200 A 5 KRB
8010085 WG 165*114 A 4 KB
8010086 RS = 219114 A 6 KBS
8010087 RS 114*76 A 5 IKBES
8010088 WIS Ak 114 A 14 KBRS
8010089 WIS = 130*114 A 3 IKBE
8010090 PGl 110*60 A 4 IKBE
8010091 VR A = 89%42 N 1 KRR
8010093 WEBEAT K 273 N 1 KIEK
8010094 IRIHAE TS 3k 219 45° 0~ > pTED
8010102 FEE: =l DN80*50+*50 A 4 IR
8010103 =»iii 300*300 A 1 UNES
8010104 H 75 & DN80 A 2 UNES
8010106 AL 100*80 A 12 KRS
8010107 AL 125*80 A 1 KIEK
8010111 AL 300*250 A 2 KIEK
8010113 AL 300*200 A 1 KIEK
8010114 L 350*300 > 2 KB
8010123 RRIB I DN200 A 2 KBRS
8010125 RRIB I DN8O A 1 KBRS
8010127 Hh DN200 A 2 KBRS




8010128 HR DN250 A 1 TKBE
8010129 HR DN150 A 6 TKBE
8010130 I 1 z15t-10 DN32 & 5 IR
8010132 BRI DN50 & 10 IKBE
8010133 I DN15 & 5 IKBE
8010135 I DN25 & 7 IKBE
8010138 =@ 125* 125 A 6 IKBEH
8010148 KR ST DN100 A 4 IKBEH
8010155 R4 DN350 A 20 IKBEH
8010157 i DN200 A 200 TKBE
8010158 i DN150 A 90 IKBE
8010160 i DN100 A 100 IS
4100037 EIpES] DJ338-7 NBR126A-2001 kg |1,985.00 | 4 )E
4100039 7RIk NBR78-2000 kg |2,060.00 | B4 )E
4100041 7RI R M30*140 £ 26 B )E
4100052 B EE AN 193mm109mm*3mm e | 1,009.00 | BG4
4100053 B EE AN 193mm*215mm*3mm He 11,240.00 | B0 4w
4100055 Pk B kg 135 | Ruew
4100057 it o] 4 kg 235.25 | B4R
4120087 N SN 35 kg |3,050.00 | (048
5010001 Y M4*10 & 450 PRUELE
5010003 IR AR M5*5 = 400 FRUESF:
5010004 IR M5*10 = 400 FRUESF:
5010005 IR M6*5 = 414 FRUESF:




5010006 IR M6*10 = 230 FrRUES:
5010007 Y M6*15 = 336 FrRUES:
5010008 IR M6*20 = 210 FrRUES:
5010009 Y M8*5 £ 400 FRUELE
5010011 Y M8*15 S 354 FRUELE
5010012 IR M8*20 S 364 FRUELE
5010013 Y M8*25 = 150 PRUELE
5010015 Y M8*35 = 329 PRUELE
5010017 Y M8*50 = 276 PRUELE
5010018 AR M8*60 = 255 FRUELE
5010019 AR M10*5 = 480 FRUELE
5010020 AR M10*10 = 380 FRUELE
5010021 AR M10*15 = 400 FRUELE
5010022 AR M10*20 = 197 FRUELE
5010030 AR M10*70 = 240 FRUELE
5010031 Y M10*80 %= 390 PRUELE
5010047 Y M12*100 %= 125 PRUELE
5010054 Y M14*35 %= 380 PRUELE
5010058 Y M14*45 = 227 PRUELE
5010060 Y M14*55 = 332 PRUELE
5010061 Y M14*60 = 213 PRUELE
5010062 AR M14*70 = 276 FRUELE
5010063 AR M14*80 S 446 FRUELE
5010064 AR M14*90 S 150 FRUELE
5010065 AR M14*100 S 164 FRUELE




5010066 IR M14*110 = 200 FrRUES:
5010067 Y M14*120 = 200 FrRUES:
5010071 Y M16*25 = 480 FrRUES:
5010072 Y M16*30 £ 337 FRUELE
5010073 Y M16*35 £ 456 FRUELE
5010074 IR M16*40 £ 261 FRUELE
5010075 Y M16*45 = 303 PRUELE
5010082 Y M16*100 = 76 PRUELE
5010083 Y M16*110 = 198 PRUELE
5010084 AR M16*120 = 169 FRUELE
5010085 AR M16*130 = 200 FRUELE
5010086 AR M16*140 = 200 FRUELE
5010087 AR M14*150 £ 190 FRUELE
5010088 AR M16*160 = 192 FRUELE
5010089 AR M16*170 = 190 FRUELE
5010090 Y M16*180 %= 198 PRUELE
5010093 Y M18*25 %= 195 PRUELE
5010094 Y M18*30 %= 339 PRUELE
5010095 Y M18*35 = 500 PRUELE
5010096 Y M18*40 = 500 PRUELE
5010097 Y M18*45 = 492 PRUELE
5010098 AR M18*50 £ 413 FRUELE
5010099 AR M18*55 £ 500 FRUELE
5010100 AR M18*60 S 302 FRUELE
5010102 EFES M18*80 = 444 FruE:




5010103 IR M18*90 = 466 FrRUES:
5010104 IR M18*100 = 442 FrRUES:
5010105 IR M18*110 = 192 FrRUES:
5010106 Y M18*120 £ 190 FRUELE
5010107 Y M18*130 £ 200 FRUELE
5010108 IR M18*140 £ 200 FRUELE
5010109 Y M18*150 = 200 PRUELE
5010110 Y M18*160 = 200 PRUELE
5010111 Y M18*170 = 200 PRUELE
5010112 AR M18*190 = 200 FRUELE
5010113 AR M18*200 (8.8) = 195 FRUELE
5010114 Y M18*210 = 200 FRUELE
5010115 Y M18*220 = 200 PRUELE
5010116 AR M18*230 = 200 FRUELE
5010117 AR M18*240 = 194 FRUELE
5010118 AR M20*15 = 192 FRUELE
5010119 AR M20*20 £ 200 FRUELE
5010120 AR M20*25 £ 200 FRUELE
5010121 AR M20*30 S 181 FRUELE
5010122 Y M20*35 = 492 PRUELE
5010123 Y M20*40 = 368 PRUELE
5010124 Y M20*45 = 415 PRUELE
5010130 IR AR M20*90 = 72 FRUESF:
5010131 IR M20*100 = 297 FRUESF:
5010132 IR M20*110 = 444 FRUESF:




5010133 IR M20*120 = 494 FrRUES:
5010134 Y M20*130 = 457 FrRUES:
5010135 IR M20*140 = 486 FrRUES:
5010136 Y M20*150 S 196 FRUELE
5010137 Y M20*160 S 152 FRUELE
5010138 IR M20*170 S 190 FRUELE
5010139 Y M20*190 = 200 PRUELE
5010140 AR M20*200 (8.8) = 199 PRUELE
5010141 Y M20*210 = 200 PRUELE
5010142 AR M20*220 = 200 FRUELE
5010143 AR M20*230 = 200 FRUELE
5010144 AR M20*240 = 200 FRUELE
5010145 AR M22*20 £ 200 FRUELE
5010146 AR M22*30 £ 200 FRUELE
5010147 WA M22*40 = 174 bRy
5010148 Y M22*50 %= 133 PRUELE
5010149 Y M22*60 %= 160 PRUELE
5010150 Y M22*70 %= 196 PRUELE
5010151 Y M22*80 = 186 PRUELE
5010152 Y M22*90 = 173 PRUELE
5010153 Y M22*100 = 180 PRUELE
5010154 AR M22*110 = 193 FRUELE
5010155 AR M22%120 S 194 FRUELE
5010156 AR M22*130 £ 200 FRUELE
5010157 AR M22%140 £ 200 FRUELE




5010158 IR M22*150 = 200 FrRUES:
5010159 IR M22*160 = 200 FrRUES:
5010160 IR M22*170 = 200 FrRUES:
5010161 Y M22*180 £ 200 FRUELE
5010162 Y M22*190 £ 200 FRUELE
5010163 IR M22*200 £ 200 FRUELE
5010164 Y M24*20 = 200 PRUELE
5010165 Y M24*30 = 200 PRUELE
5010166 Y M24*40 = 186 PRUELE
5010167 AR M24*50 £ 200 FRUELE
5010168 AR M24*60 £ 200 FRUELE
5010169 AR M24*70 £ 144 FRUELE
5010170 AR M24*80 £ 106 FRUELE
5010171 AR M24*90 = 194 FRUELE
5010172 AR M24*100 = 182 FRUELE
5010173 Y M24*110 %= 196 PRUELE
5010174 Y M24*120 %= 186 PRUELE
5010175 Y M24*130 %= 199 PRUELE
5010176 Y M24*140 = 180 PRUELE
5010177 Y M24*150 = 195 PRUELE
5010178 Y M24*160 = 192 PRUELE
5010179 AR M24*170 £ 200 FRUELE
5010180 EFES M24*180 = 144 FruE:
5010181 AR M24*190 £ 200 FRUELE
5010182 AR M24*200 S 197 FRUELE




5010183 IR M24*210 = 200 FrRUES:
5010184 IR M24*220 = 200 FrRUES:
5010185 IR M24*230 = 200 FrRUES:
5010186 Y M24*240 £ 200 FRUELE
5010187 Y M24*250 £ 200 FRUELE
5010188 IR M24*260 £ 200 FRUELE
5010189 Y M24*270 = 197 PRUELE
5010190 Y M24*280 = 200 PRUELE
5010191 Y M27*30 = 200 PRUELE
5010192 AR M27*40 £ 200 FRUELE
5010193 AR M27*50 £ 200 FRUELE
5010194 AR M27*60 £ 200 FRUELE
5010195 AR M27*70 £ 198 FRUELE
5010196 AR M27*80 £ 200 FRUELE
5010197 AR M27*90 = 173 FRUELE
5010198 Y M27*100 %= 30 PRUELE
5010199 Y M27*110 %= 200 PRUELE
5010200 Y M27*120 %= 190 PRUELE
5010201 Y M27*130 = 200 PRUELE
5010202 Y M27*140 = 200 PRUELE
5010203 Y M27*150 = 192 PRUELE
5010204 AR M27*160 £ 199 FRUELE
5010205 AR M27%170 £ 200 FRUELE
5010206 AR M27*180 S 182 FRUELE
5010207 AR M27*190 £ 200 FRUELE




5010208 IR M27*200 = 200 FrRUES:
5010209 IR M27%210 = 200 FrRUES:
5010210 IR M27%220 = 200 FrRUES:
5010211 Y M27*230 S 200 FRUELE
5010212 Y M27*240 S 200 FRUELE
5010213 IR M27*250 S 200 FRUELE
5010214 Y M27*260 = 200 PRUELE
5010215 Y M27*270 = 200 PRUELE
5010216 Y M27*280 = 200 PRUELE
5010217 AR M30*30 = 195 FRUELE
5010218 AR M30*40 = 189 FRUELE
5010219 AR M30*50 = 184 FRUELE
5010220 AR M30*60 = 183 FRUELE
5010221 AR M30*70 = 170 FRUELE
5010222 AR M30*80 = 184 FRUELE
5010223 Y M30*90 %= 198 PRUELE
5010224 Y M30*100 %= 188 PRUELE
5010225 Y M30*110 %= 187 PRUELE
5010226 Y M30*120 = 185 PRUELE
5010227 Y M30*130 = 200 PRUELE
5010228 Y M30*140 = 200 PRUELE
5010229 AR M30*150 = 142 FRUELE
5010230 AR M30*160 S 196 FRUELE
5010231 AR M30*170 S 194 FRUELE
5010232 AR M30*180 S 200 FRUELE




5010233 IR M30*190 = 200 FrRUES:
5010234 Y M30*200 = 198 FrRUES:
5010235 IR M30*210 = 196 FrRUES:
5010236 Y M30*220 S 200 FRUELE
5010237 Y M30*230 S 200 FRUELE
5010238 IR M30*240 S 200 FRUELE
5010239 Y M30*250 = 200 PRUELE
5010240 Y M30*270 = 200 PRUELE
5010241 Y M30*280 = 200 PRUELE
5010242 AR M30*290 = 200 FRUELE
5010243 AR M30*300 = 196 FRUELE
5030024 B ey PTM1027 % 1 PES
5030025 B ey PB1227 % 1 PES
5030026 B ey PTL1020 % 1 PES
5030047 — A SPB5600 % 22 iES
5030376 — A 5V1900 % 13 Bk
5030377 L I ] 3518 A 100 B
5030378 L I ] 27*14 A 74 B
5030383 s e Pl 30*70*18 A 100 Bk
5040571 FrUfEdT R IR = 1 b T

5100042 H5 R 47 R 5 1L A 213 H 42k
5100123 EF S R317 N 75 H ek
5100129 fT H §I A (R BALER) 22W = 120 H 22
5100327 AR e 1 H ek
5100328 LR e 1 H ek




5100329 Eaaite P/ 88 H 2k
5100343 BT 2 13 H ek
5100380 SR S AT N 2 47 H ek
5100403 FEH 8mm m 15 H ek
5100404 FEH 6mm m 14 H 22k
5100407 W AT 220V 60W A 157 H a8
5100408 MW AT IR 220V 200W A 50 Hau
5100431 H Bl AREN A 100 H %2
5100434 TH#EEK 84 ik 60 Hau
5100439 AR = A 7 H 29k
5100481 MR AR 4T 420 SR 20 H 29k
5100524 A OFRRLT 6W A 9 H 29k
5100539 B3N 509/4% 13 24 H 29k
5100655 PRIKHLA 5 e A 20 H 29k
5100720 T B 10mm RS 10 H ek
5100721 a2l SC2000 i 11 Hauk
5100722 fifi AL 51 UT-R20 i 13 Hauk
5100723 (EZ¥ S 100 P 3 H 242
5100725 E it % 234 H 42k
4090039 T G5 = 34 TH%
4090040 P 7 & = 15 TH%
4090066 HLBh A= 22 1) 220V At A & 1 THE
4090107 AT 2.5 7t & 4 THK
4090123 FHE AT EANE 10 I A 1 THE
4090126 Pt £k 4 2 THK




4090132 Bl A% A 17 TRk
4090401 KEET 350mm R 84 TRk
4070369 HL L Y2-225S-4/37KW = 1 a8 2 1
4070359 HI L Y2-315M-4/132KW = 1 HL 7 25 1
1 —AHSF A B Y180L-4 22kw 5 1 HiL 2% 25 1
2 — AR AL YVF160L-4 15kw & 1 HH 2 2%
3 —AH S H B AL YV160M—-6 7. 5kw = 1 HL#8 251
4 —AH S H B AL YZ160L-4 1lkw = 1 28 Ak
5 —AH S H B AL Y13251-4 3. 5kw = 1 HL#8 251
6 A A H L Y132S-4 7. 5kw & 1 HLAS A
7 =P L YZ200L—-4 30kw & 1 A 2 1
8 A A H L Y2R225M-6 30kw = 1 A 2 1
9 A A L Y112M-4 4kw = 1 A 2 1
10 A A L Y2132M-4 7. Skw & 1 HLAS A
11 A A BN Y2112M-4 4kw & 1 LA 25 1
12 B7 K Ve AL 32# kg 850 T g
13 rh B g 2 % T L-CKD320 kg 510 T g
14 rh A7 AT P A A 220# kg 850 MR g3l
15 rp A7 g P A el 150# kg 340 MEbEgiE
16 PB4 FU350 P/ 20 HUBR A1




